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Bernoulli Trial : 

Experiment with only two possible outcomes 

 

 

 

 

 

 

 
Discrete Distribution 

 

 Binomial Poisson 

parameters 

n =trials 

P =probability of success 

 

=average or mean 

r.v 
𝐗 = 𝐧𝐮𝐦𝐛𝐞𝐫 𝐨𝐟 𝐬𝐮𝐜𝐜𝐞𝐬𝐬𝐞𝐬 

𝐢𝐧 𝐧 𝐭𝐫𝐢𝐚𝐥𝐬 

𝑿 = 
𝒏𝒖𝒎𝒃𝒆𝒓 𝒐𝒇 𝒐𝒄𝒄𝒖𝒓𝒓𝒆𝒏𝒄𝒆 

𝒐𝒇 𝒔𝒐𝒎𝒆 𝒆𝒗𝒆𝒏𝒕 𝒊𝒏 𝒂𝒏 𝒊𝒏𝒕𝒆𝒓𝒗𝒂𝒍 𝒐𝒇 
𝒕𝒊𝒎𝒆 𝒐𝒓 𝒔𝒑𝒂𝒄𝒆 

Value of r.v 

 

𝐱 =  𝟎 , 𝟏 , … . . , 𝐧 

 

𝒙 = 𝟎, 𝟏, 𝟐, … …. 

write 

 

𝑿~ 𝑩𝒊𝒏𝒐𝒎𝒊𝒂𝒍(𝒏 , 𝒑) 

 

𝑿~𝑷𝒐𝒊𝒔𝒔𝒐𝒏() 

Probability 

distribution 

P(X=x) 

(
𝒏

𝒙
) 𝒑𝒙 𝒒𝒏−𝒙 

 𝒙𝒆−

𝒙!
 

Mean 

Expected 

 
𝒏𝒑  

Variance 

𝟐 
𝒏𝒑𝒒  

standard 

deviation 

 
√𝒏𝒑𝒒 √ 

 

S= success 

 

 
 

 

 

F= failure 

 

 
 

 


